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Question 1   Primary 3 Math » Primary 3 Math (Term 4) 1 pt

Section A

For each question, four options are given. One of them is the correct answer. 


In 8741. what does the digit 7 stand for?

A) 7

B) 70

C) 700

D) 7000
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What is the mass of the watermelon as shown above?·

A) 200g

B) 205g

C) 250g

D) 300g
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Question 3   Primary 3 Math » Primary 3 Math (Term 4) 1 pt

What time is two hour before 6:30p.m?

A) Half past 4 in the morning

B) Half past 4 in the evening

C) Half past 8 in the morning

D) Half past 8 in the evening
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What is the missing number in the blank?
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A) 24

B) 20

C) 5

D) 4
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Which one of the following is the same as 6 thousands, 17 hundreds and 3 tens?

A) 6173

B) 6200

C) 7703

D) 7730
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Find the number in the box.


A) 301

B) 316

C) 304

D) 307
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Minah had 2 421 pokemon cards. She had 1 408 more cards than Gopal. Find the total number of
cards they had. 

A) 1013

B) 3434

C) 3829

D) 6250

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,852,399

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 8   Primary 3 Math » Primary 3 Math (Term 4) 1 pt

Refer to the graph to answer questions 8 and 9. 

The graph below shows the number of 40¢ erasers bought by 4 children.


Which of the following child bought 5 erasers?

A) Susan

B) Min Min

C) Zara

D) James
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How much more did James pay for his erasers than Min Min?

A) $0.50

B) $1.20

C) $2.00

D) $4.40
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 How many of the marked angles is/ are obtuse angle(s)?


A) 2

B) 3

C) 4

D) 5
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Complete the number pattern below.


3875, 3860, 3845, __________, 3815

A) 3830

B) 3835

C) 3840

D) 3825
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Square WXYZ is made up of 2 identical rectangles. What fraction of the Square WXYZ below is
shaded? Give your answer in the simplest form.


A) 4/5

B) 2/3

C) 1/5

D) 1/3
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After buying 8 lollipops, Jamie had $5.40 left.

Each lollipop was sold at $2 each. How much money did she have at first?

A) $3.40
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B) $13.40

C) $16.00

D) $21.40
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Question 14   Primary 3 Math » Primary 3 Math (Term 4) 1 pt

Which of the following is the greatest in volume?

A) 670ml

B) 6700ml

C) 6 litres 70ml

D) 6 litres 7ml
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Question 15   Primary 3 Math » Primary 3 Math (Term 4) 1 pt

The figure below is made up of identical squares. What is the area of the figure? 


A) 7cm2

B) 14cm2

C) 28cm2

D) 32cm2
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Nick has 53 toys. Morty has three times as many toys as Nick.

Jerry has twice times as many toys as Nick. How many toys do the three boys have altogether?

A) 159

B) 106

C) 265

D) 318
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Section B

Type your answers in the spaces provided. For questions which require units, give your
answers in the units stated.


Accepted answers:

960
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What is the biggest 4-digit number that can be formed with these digits?
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At a carnival, there were 318 children, 189 men and 245 women. How many more adults than children
were there at the carnival?
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116
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Leroy had-$48.85 He spent $24.60 on badminton racket. How much money had Leroy left?
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$24.25

24.25 dollars
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What fraction of the figure below is shaded? Give your answer in the simplest form.


Accepted answers:

2/3
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Find out the sum of 8943 and 215. 

Accepted answers:

9158
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A total of 308 oranges are divided equally into 4 bags.

How many oranges are there in each bag?

Accepted answers:

77
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Question 24   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

Arrange the following numbers from the smallest to the greatest.

(Put commas between each set of digits with no spacing in between. eg. 1234,3456,6433,7688)


6942        2964        6492          4962

Accepted answers:

2964,4962,6492,6942
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The graph below shows the number of books sold at a different outlets in the month of January.


The total number of books sold in two outlets is 85. Which are the two outlets? 

A) Ion and Junction 8

B) Tampines Mall and Northpoint 

C) Northpoint and Junction 8

D) Tampines Mall and Ion
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440
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Question 27   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

A movie screening started at 10 o'clock in the morning. It lasted for 105 minutes.

At what time did the movie end? 

Accepted answers:

11:45am

11:45 am

11.45am

11.45 am
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The sum of two numbers is 65. The difference between the numbers is 25.

What is the smaller number? 

Accepted answers:

20
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Question 29   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

Arrange the following fractions from the greatest to the smallest.

(Put commas in between each set of numbers and do not leave any spacing. Eg. 1/2,4/9,2/4,3/6)


1/4          7/8          8/16

Accepted answers:

7/8,8/16,1/4
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Question 30   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

The figure below is made up of two identical rectangles. What is the perimeter of the figure?


Accepted answers:

92cm

92 cm
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Question Type: Free Text
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,032

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 31   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

Using a set-square and a ruler, draw a line parallel to BC passing through the Point A. 


This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.


Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,067

Correctly answered feedback
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Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 32   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

The Lim family started their hike at Point X and ended their hike at Point Z. How far did they hike from
Point X to Z?

Give your answer in kilometres and metres.
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Accepted answers:

9km 29m

9 kilometres 29 metres

9 km 29 m

9kilometres 29metres

Question Type: Free Text
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,102

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 33   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

Miss Tan bought some eggs. She baked 7 cakes.

She used 5 eggs to bake each cake and had 3 eggs left. How many eggs did she buy?

Accepted answers:

38 eggs

38eggs

38

Question Type: Free Text
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,108

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 34   Primary 3 Math » Primary 3 Math (Term 4) 2 pts

Mr Ahmad wants to buy 27 pears.

What is the least amount of money he needs to pay for the 27 pears?
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Accepted answers:

$23

$ 23

23 dollars

Question Type: Free Text
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,120

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 35   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

Section C 

Show your working clearly on a piece of paper. 


This section is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.


There are 1275 chocolate cookies at a store.

There are 339 more chocolate cookies than strawberry cookies. 

(a) How many strawberry cookies are there? 

(b) How many cookies are there altogether? 

Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,150

Correctly answered feedback
a)   1275 – 339 = 936


There are 936 strawberry cookies.


b) 936 +1275 = 2211


There are 2211 cookies altogether.

Incorrectly answered feedback
a)   1275 – 339 = 936
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There are 936 strawberry cookies.


b) 936 +1275 = 2211


There are 2211 cookies altogether.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 36   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

Mr Chen has two bags of flour. The first bag has 2275 g of flour.

After using 513 g of flour from the bag, there is still 718g of flour more in the first bag than in the
second bag.

What is the mass of flour in the second bag?

Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,165

Correctly answered feedback
2275 – 513 = 1762 gm


1762 – 718 = 1044 gm


The mass of flour in the second bag is 1044gm.

Incorrectly answered feedback
2275 – 513 = 1762 gm


1762 – 718 = 1044 gm


The mass of flour in the second bag is 1044gm.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 37   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

Marie ate 2/7 of a pizza. Her sister ate 3/21 of the same pizza. 

(a) What fraction of the pizza did they eat in all?

(b) What fraction of the pizza was left?

Give both answer in the simplest form. 

Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,219

Correctly answered feedback
(a) 2/7 + 3/21 = 6/21 + 3/21


                          = 9/21


                           = 3/7


They ate 9/21 of the pizza.


(b) 1 – 3/7 = 4/7 (simplest form)


4/7 of the pizza was left.
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Incorrectly answered feedback
(a) 2/7 + 3/21 = 6/21 + 3/21


                          = 9/21


                           = 3/7


They ate 9/21 of the pizza.


(b) 1 – 3/7 = 4/7 (simplest form)


4/7 of the pizza was left.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 38   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

Daniel took 25 minutes to travel from her school to a grocery store.

He spent 45 more minutes shopping at the grocery store than traveling time, Daniel finished shopping
at. 4:15 p.m. 


(a)   How long did he shop at the grocery store? (Give your answer in hours and minutes )


(b)    At what time did he start shopping?

Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,273

Correctly answered feedback
a)   25 + 45 = 70 mins


          70 mins = 1hr 10mins


He spent 1hr 10mins at the grocery store.


 b)  1hr 10mins before 4:15pm is 3.05pm

Incorrectly answered feedback
a)   25 + 45 = 70 mins


          70 mins = 1hr 10mins


He spent 1hr 10mins at the grocery store.


 b)  1hr 10mins before 4:15pm is 3.05pm

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 39   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

The capacity of a tank is 2394 ml.

7 identical jugs can fill a tank completely. A jug can fill 6 identical cups completely.

(a)  What is the capacity of each jug? 

(b)   What is the capacity of each cup?


https://www.classmarker.com/a/tests/qb/manage/?test_id=1347955&question_id=20855219
https://www.classmarker.com/a/tests/qb/manage/?test_id=1347955&question_id=20855219&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1347955
https://www.classmarker.com/a/tests/qb/manage/?test_id=1347955&question_id=20855273
https://www.classmarker.com/a/tests/qb/manage/?test_id=1347955&question_id=20855273&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1347955


7/7/2021 ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1347955&trk=edittest_inrow_edit 20/21

Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,299

Correctly answered feedback
a)    2394 ÷ 7 = 342


          The capacity of each jug is 342ml.


b)   342 ÷  6  =   57


          The capacity of each cup is 57ml.

Incorrectly answered feedback
a)    2394 ÷ 7 = 342


          The capacity of each jug is 342ml.


b)   342 ÷  6  =   57


          The capacity of each cup is 57ml.

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 40   Primary 3 Math » Primary 3 Math (Term 4) 0 pts

Mr Ali packed a total of 27 kg of sugar into 7 bottles.

The sugar was packed into bottles of 3 kg and 4 kg. 

How many bottles of 3 kg sugar and how many bottles of 4 kg sugar were there?

Question Type: Essay
Date Added: Sat 16th May 2020
Last Modified: N/A
QID#: 20,855,316

Correctly answered feedback
 1 bottle of 3 kg sugars, 6 bottles of 4 kg sugars.


          ( 1 x 3 ) + ( 6 x 4 ) = 27 kg
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Incorrectly answered feedback
 1 bottle of 3 kg sugars, 6 bottles of 4 kg sugars.


          ( 1 x 3 ) + ( 6 x 4 ) = 27 kg

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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